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(% L EBEREET)
ey _ HFE R ke) 1% #YFE ]
a—Fk A R A8 gyF | Exmel | Buke | SEE | wEe | e | se | e | zem)
130100(/=W 2 A biToesY 14,380
130100|7=\W 2 A FiE 4,200 0 3,790 10 2,700 1,296
130100(/=W 2 A ey = 1,340 0 1,340 10 2,700 1,677
130100|7=\W 2 A = 600 0 600 10 2,484 2,376
130100(/=W 2 A RIG 2,230 0 2,230 10 2,948 2,160
130100|7=\W 2 A R 1,675 0 975 15 2,160 1,296
13034003 ICA LA biToesY 18,160
130340[%ICA CA = 9,310 0 9,310 10 4,212 1,620
13034003 ICA LA Rlg 4,350 0 4,350 10 3,780 1,782
130400| 1% 5 be 1,126
130400| 1% 5 B 1,080 0 1,060 10 3,240 1,566
130400\ 1% 5 Ko 42 0 42 0.15 173
130400| 1% 5 = 4 0 4 2 2,376
130500|7=l¥ > = bne 445
1305007zl > = BiR 220 0 212 4 3,240 1,296
130500|7=l¥ o = = 225 0 225 5 2,484 1,944
130600({1 A Z A biToesY 1,410
130600| A T A = 1,410 0 1,410 5 5,616 972
13110018 3% biToesY 114,492
131100|H 3% B3 47,427 60 44,427 15 1,026 2,700 1,404
131100|83% RIG 59,700 0 59,700 15 2,862 1,634
131100|H 3% = 5 3,750 0 3,750 15 1,080 1,026
131700(F v XV biToesY 31,680
131700(F v X/ 2 13,920 0 9,900 10 2,700 1,242




131700|F v R FE 9,668 0 9,668| 10 1,512 680
131800(1F 5 WA E e 1,336

131800(I1F 3 WA E a=d 686 484 192 0.2 211 108 135 81
131800(12 5 WA E g 461 0 457| 0.18 194 130
131910(Fh & et 2,098

131910(F R & KR 23 22| 05 702 302
131910(Fh & FE 78 68| 0.5 324 265
131910(F R & B[] 175 175 1 648 432
131910(Fh & ) 1,388 250 1,138] 10 2,484 3,024 2,484
131950|H A & HE 2,127

131950(H & =33 270 120 5 2,268 2,160
131950(A R & BER 1,455 1,008 3 1,404 648
131950|B A& BES 402 402 3 1,404

133400(L % % e 14,125

133400(L % 2 FE 11,845 0| 11,085 10 2,808 1,080
133400(L % % F=1iA 580 0 460 4 1,566 1,188
133400(L % 2 Rig 300 0 300| 10 1,458
134100|#A/1 e 25,035

134100 |#8/1 ES 4,390 0 4,390 5 2,052 1,512
134100|#A/1 T 3,685 0 3,685 5 2,160 1,512
134100 |88/ Syt 1,050 0 850 5 2,160 1,620
134100|#A/1 = 12,510 0| 10,670 5 2,398 1,296
134100 |88/ BES 315 0 315 5 1,944 1,458
134200(F /1 e 2,470

134200 (7 I —a—-Y—-5vF 2,470 0 2,030| 10 1,944 108
134300(#6F e 11,868

134300 (%6 F S 2,724 2,684 2 972 540
134300(#6F Syl 7,999 7,087 0.7 205

134300 (%6 7 =1 1,005 926| 0.3 162 146
134400| k= b+ e 17,745




134400 b~ b BE 1,140 1,140 1 324 302
134400| k< b Rl 1,452 1,452 4 1,620 1,188
134400 b~ b REA 15,090 15,075 1,728 972
134500 &' —~ >~ ¥ 7,096

134500 "=~ ~ = Al 2,495 2,475| 0.15 103 86
134500 &' —~ > = I 4,076 4,076 0.13 103 79
135100 WA F A ¥ 186

135100| W A 1T A BERE 50 50 2 3,510 3,294
135200|%= T3 238

135200|%= EA 51 51 2 3,888 2,160
1352003 = BE 31 15 2 2,808 1,728
135200|%= BE 126 126 2 3,564 1,944
135300|— X ¥ 574

135300 &"— X FOFRL 230 230 10 10,800 8,100
1361001 A L & ¥ 22,115

136100(AA L & I 17,760 4,145 5 1,944 540
136100|HA L & & 4,355 4,060 5 1,944 432
136200|E 5% TeE 1,500

136200| %5 BRS 1,500 1,500 10 2,182 1,642
136210( 4 —7 1 > ¥ 7,150

136210| X —27 4 >~ Jtime 5,100 5,100 20 1,566 1,458
136210( X —7 1 > R 2,050 2,050 10 4,104 3,078
136300| 2% ¥ 1,390

136300(E3 i 1,280 1,280 10 5,184 1,620
136600|7-xa & ¥ 32,940

136600|7z & time 270 270 10 3,672 1,782
136600(7-xa & BE 32,570 32,470 10 2,754 432
138100({& L W Ao lF ¥ 1,535

138100|& L Wizl fig Ly 154 154 0.2 108
138100({& L W Ao lF BE 1,053 1,025 0.2 270 108
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BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
241260|HE # M A [y 880
241260|HE A H A B 880 0 880| 10 1,512 1,296
242320|¥ 33— L F | 420
242320|¥ 3+ 3— K | BH 420 0 420 10 7,020 4,320
242830|3 LW A e 3,660
242830|5 LW AT & 3,660 0 3,640 10 5,076 4,536
246000|L\ B & iy 12,858
2460001 B & FLE 319 17 302| 0.25 389 173 432 227
246000|L\B & &I 949 0 889| 0.25 324 205
2460001 B & & 2,584 0 2,441 0.27 432 194
246000|L\B & RI& 3,648 0 3,497 0.25 378 194
246000 LB & REAR 4,808 0 3,873 0.25 302 140
246000|L\bB & =y 551 0 461 0.23 302 216
247100| 7 — L2 X O |## 649
2471007 — 2 x By | &M 490 0 490 9 18,360 7,020
2471007 — 248y | &4 112 0 112 9 8,640 5,400
24830078 I [y 11,553
248300 |7 I REAR 11,553 0] 10,305 15 7,020 2,700




